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i 1s example of organic molecule produced by plants :
! phosphorus C 'y ~ Carbon dioxide !
§ - '
: lipids S & Nitrogen - ..
{ 2. The inorgani fken i 3
2. e 1norganic molecule taken up by plants include
' | ‘
‘ rg y . ﬁ
. ‘/Carbon dioxide & carbohydrates *
4 o R y
H lipids g _ © Nucleic acids '
] : '
.. - :
{ 3. The macronutrients. arell
§ ‘ ' o
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:: 5. The conversion of N2 to ammonia is called £ P

15 ©  ammonification € nitrification & 4

'} : & ;
:’E 28 Carboxylation ' ' Vnitrogen ﬁXﬁﬁO@ﬁ’@J ;.
SE 6. The conversion of organic matter into ammdnium is called

#

iﬁ' nitrogen fixation ©  nitrification

% . Carbdxylation | Kammoniﬁcation

7. The conversion of ammonium into nitrates is called
ammonification ©itrification

& nitrogen fixation
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¢ 8. Nitrogen fixation is the conversion of !
& ¢ : $
§ - y a : . X . 4
! N2 to ammonia © organic matter into nitrates !
% _ 4
: organic matter into ammonium “  ammonium to nitrates H
H 4
. . . . ‘
% 9. Ammanification is the conversion of i
ﬁ . 5 -' [ . N o :
i N2 to ammonia organic matter into nitrates 2
: :
: organic matter into ammonium ©  ammonium to nitrates :
& 8o, s Sapld = Pl | ' ¢
¢ 10. Nitrification is the g 1
: o | :
H © N2tos pifionia ‘organic matter into nitrates }
) i 4 ' :
ﬁ L orgas " ammonium to nitrates :
4 . §
§ : 4
i 11 Epiphfies :
% : %
' Grow In soil s
: i
4 grow anchored on ot :
& ” 4
. ]
ﬁ absorb organic mofle :
* -
* . . ‘
! Trap and digest small animals :
% . * L“ 1 - . ‘ ‘
! 12. Parasites JesH o L) i
&
% ; . . :
: “ found in nutrient poor environments :
: utrient poor
3
4
: 4
; absorb organic molecules ﬁf@g@g :
8
4
3 : : .
: absorb inorganic elements from prey :
! "
E grow anchored on other plants :
' #
4 . T
¢ 13. Carnivorous plants % ‘lﬁ-v“:‘J : !
4 o . :
: v Trap and digest small animals such as insects !
H 4
¢ 4
H “  Grow anchored on other plants :
: $
4 Roots tap into the host plants vascular system ¢
4 ' 4
h _ . 4
! © Absorb organic molecules from host plant ;
-—-’-.___—'_—-'
H ' 4
£ ]
4 4
$ 4
s %
A 4
4 | 4
¢ 4
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Vas
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3 : . 5 .
: 14. Parasites are incapable of photosynthesis therefore absorb
3 ) '
; molecules from host plant.
4
' “ Solubl 5 7 Tnorgani
! oluble dw norganic
§ , ~
! “““Organic * Macromolecules
‘ " . = ° =iy
¢+ 15. In intracellular route E‘sbg‘-’, l,di.y'
: oo e :
4 V" T Water and solutes are selectively taken u root epidermal cell, usually a root hair
: sel P
§ _
g 1 R Water and solutes nter any cell plasma membrane until they root endodermis
: Ser any o _pasing INCiioIl
2 Ae The Casparian strip regulates uptake of minerals that enter the root wasss
§
: water and solutes pass into the root in the porous cell walls of root cells
‘ % e WS, e
i

t 16. In the extracellular route o 20O ‘
4 = %
4
: * 7 water and solutes are selectively taken up by aToetepidermal cell, usually a root hair
4 -~ i
2 v water and solutes pass into the root in the porous cell wa root cells
§ ; O ;
4 X r Casparian strip plays no role in uptake of water
4 ; e
§ * 7 water transported from cell to cell through plasmodesmata
i 17. A sugar source is a plant organ that |
4
4 . ‘b :
: vb': s a net producer of sugar via photosynthesis
: 19/ r -
4 - store the starch v
: - —_— breakdown the starch
2 store glucosex
: s
! is a net consumer of sugar
4 . .
! 18. A sugar sink is a plant organ that
S P

(2 : .
'% is a net consumer of sugar
:W 5 v _store the starch

|
VS/ £
breakdown glycogen
is a net producer of sugar via photosynthesis

19. The A horizon soil is

*" layer contains humus (decaved organic matte;z

& layer contains dissolved elements

-~ .
layer contains clay
rr———————t
layer contains rocks_
oyt Y - -~
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20. The B horizon soil i 1S

-

topsoil subject to weathering

%yer contains dissolved elements

layer contains humus (decayed organic matter)

layer contains many soil organisms

21. The C horizon soil is

topsoil subject to weathering

layer contains rocks

layer contains clay

layer contains many soil organisms

22. Stomata open

when _guard cells take up water

when potassium levels f_z_i_ll.

as aresult of arise in CO2 ¥

at night time

23. Stomata close PR L S
ﬂy/

when potassium levels fall.

€ asaresult of arise in potassium

“ ot day time

© when guard cells take up water i
t JJ [

m nit t rom the soil,
24.an only absorb@ro@as mmonium itrates he
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they cannot absorb it from :
$

3
4
H
$
H
H
$
$
%
H
%
E ']
3
%
H
$

A) Solutes B) __1115_
C) Concentrate D) Water
25. Plant can only absorb nitrogen in the form of
£-A) Ammonium | £~B) Nitrates
C) Nitrogen gas IV/'B) A and b are correct. .
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26. Soil can convert nitrogen gas from the air into a from usable
— _ $

by plants via several process. _ %

A) Macroorganisms B) Fungi i

C) Amoebes Bacterla ; z

¥ ! VD}__) 3! d‘)U Sl 8

27. Pdrasites send their roots to tap the vasc ar “system of plants. !
8

A) Adjacent B) alternate :

4

Host D) small . 4

i /030 6 ) Jled ! Fl) oy :
28. Parasites their reots tap the system of host plants. !
§

A) cambium B) xylem s

1-C) vascular p D) phloem ‘ ;

297 Carnivores)plants absorb(moréamg element from and they E
are abundant invironment. ;

$

A) Arthropods B) host :

§

C) Parasite . D) Prey < r-—-—’/-’-) } !

' = 4
30. plants trap and digest small animals such as insects. s
A) Parasite £—3By Carniovers i

) Epiphytes 5 D) Predators :

1 72U /J g 4

31. Plant rastiﬁ‘as are fﬁ/c‘;apabl'e of Therefore absorb @ %
8

molecules from Host)plants. !

. 8

A) Breathing. <—B) Photosynthesis. i

C) Absorbing water. i3 D) Cellular respiration. $
N e . o

32. Casparian §trip regulates uptake of that enter the root via :
3

extracellular route e Z, Ry %

A) water -~ : <—B) minerals %
Rem—— | R !

C) acids D)bases %

) AU 2 2 \= teng

33. The plant cells of endodermis contain a waxy barrier called the _ stri i
, %

A) Soluble B) permeable !

$

£—C) Casparian D) Tough 4
-ﬁié;;? ;

£
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34. The plant cells of __ contain a waxy barrier called Casparian strip.

L~A) Endodermis B) Epidermis

36(@

C) Hypodermi " D) Out H
) Hypodermis /}"PP’J"}/J" ) Quter wa

35. The plant cells of Endodermls contain a waxy =% called

casparian strip. Sl
A) polymer : i «—B) barrier
C) monomer D) solution

LileeD .
d other /d) organ in plants produces sugar via

breakdown of starch

A) Transporting B) functional
C) Respiratory ¢—D) storage
Py S 2
37. Sugar source Roots and other storage organs produce sugar via
of starch.
A) Transporting B) storage
¢&—T) Breakdown /_/6’ D) photosynthesizing

Z)
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, 25. Fungi have distinctive adaptation such as

1% \ r~ . Vi
v )ﬂ) R not digest both lignin and cellulose
% “ photosynthesis

et

K ot cause plant diseases

L feeding on dead organisms

————

26. Animals have many characteres as they

ol

-0\ )
J"}é %" have cells with cel

]

Q1

{"h
K have an exoskeleton

te reproduce by budding

28. SJ;)onges é“(z.g,./_Jl)

r ;
A" are colonies of multi-celled organisms.

» havea complicated body plan. 4= .. v

L% have sexual Reproduction@@ 4

L iack tissues. &- 2 19\ LAk

29, Amphlblans possess many features such as: -

\& EYO RN
U"w/) -y They have a four—chambered heart

e ?"'/J‘ = 3\
R~ Lungs are gowerful developed.

' g They reproduce in water.

.._l")_

X They live in land

e SR

/
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30. Arthropodsinclude (2o \Jdes)

b

Mammals. ,")J w's Lad! é— v’ Insects.
i s Arachnids. ¢— o5 E‘@D S v, 2 W) €1 v Crustaceans |}
Reptiles. :
Sponges. !
: 31. Mammals (G u_)‘) !

*
5
g
Q
I
=]
-
=
[¢]
o
[#2]
o
=
B'o
¥2]
=
=L
(¢}
w
=+
-
a
=
8
=
o
8.
]

& :
A are o tremes, and marsupials
A ‘A ~ & / ','f’}'
1 é@divided int@ fﬁé onotremes, and placentals

32. Which of the folloWing afiix nammals?&—-y 31\ 5o, )

T ]

n ¢~ Lizard Ve }
4 "
l : Bat t‘f“}d'
’ &y 7
. 33.The first part in binomial name y y 4
'l A) SpeCieS ' | !‘()" :t

C) order S i LA 4
! P
' 34.The second part of the binomial name is £ .
’ c—A)Species. 'B) genus. .=

G P i

C) order. i D) Class. ‘ i |
¢+ 35. Pathogenic bacteria secrete that cause diséase to human.
}
1 M--ﬁ) Toxins g;;‘ b’;ﬁ ) B) Hormones 4
4 C) Enzymes D) Carbohydrates

, 36. is the use of prokaryotes and other organism’s metabolism to

remove pollutants. <— gy Yoo~

e e ey s ST

A) Nitrogen fixation B) Decomposition
£~C) bioremediation D) bio-composting
4
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‘ et
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37. The bacterium that cause anthrax can be used as o
VA
A) Industrial bacteria +  B) antibiotic producer ‘
{
n C) vitamin producer t—D) Biological weapon <— . w2 Yo '
’ = : 4
38. Which of the following is seedless vascular plant? §
s 4
i L —#) club mosses. - B) foraminiferans. v Ferns |
} C) hornworts. - D) slime molds. v horse tail 1
39, The see(ﬁessy;’fascular plants prm?gate by ,
th \p\n}“c,ﬁr) spores. g B) seeds. :
4
i C) budding ™ p) D) binary fission. :
 40. The ara¢hinids.if ) ;
i (A)mers () Teks v’ Mites :
(C) Scorpions gl &—1D) all of the above ——
S 2 {
41. are the
A) arachinids &/ ‘
4 a4
; ¢—C) insects ./ :
4 _,ﬂ"}( 1
42. Reptiles include M *
. o 4
(A) Lizards v Alligators :
‘ (C) turtles )) All of th€ above v crocodiles }
{ o £
i 43. Which of the following organisms is a marﬁial? ‘
A) echidna kangaroo (walabye 8
) £—-B) kangaroo (w aby ) o
C) whale D) monkey & ‘
§ U 00 YSI T
44. In many marsupial species, post birth development" :
A) Uterus B Vs 1) B) Bladder
() Internal sac &-D) Protective pouch ]
T L= "—ﬁ;j" {
4&
5|
~ =
@~ == ~
] {::f,,‘"
4
' 1
i CORATIE B ol U Doge st sts) ool jmit SO/ 5585 [ 7
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Substrate -~————- ;
a3 Jale . Active site

| / ALachll) 2 gal
Enzyme
P )

Normal binding of substrate 3% Jalal ags bls )
How inhibitors interfere with substrate binding ~J8) Jaige bt )l e Sliadl J500G 480s

Competitive Noncompetitive g
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Enzyme inhibition a3 il

¥ Biology

& Biology

ﬁ
£
¥
4
&

&
&

4
]
f~
i
&
5
&
4
4
£
&
#
4
%
&
4
&
&
£
%
4
£
:
&
&
4
4
4
$
'
]
4
2
]
4
4
&
§
i
&
%
&
]
&
4
$
§
4
4
&
3
&
H
&
L
&
)
4
§
4
'
&
i
4
[
&
Y
4
4
-
4
4
%
L
§
4
£
























. 3 December 2017 3 December 2017
ARl R o ol o L L o o o o o o o o o S o e o o o e o e O ﬁ#FT*%%%#%f%%%%?%%%%%%%%*%%ﬁ%

. 39. Chemical reaction that releases energy is knownas

- .. A St P
Endergonic Reaction ¢ b ﬁ;s,)

é,n

anabolic Reaction
& ) i
v Exergonic Reaction

i

Endothermic Reaction

40. ATPis
s N
Adenosine ’I;;;&; dsph tg,

[ —

g ——

FFEFAF R FFF A BT F R F I DR AR B iR E ok F b

41. is the elergy
“ ATP iy '
(4 L4 A enosine Tri hObEhde’ J
“ FAD ' ——e
ekl i
42. Enzyme .
0

is a protein

o R 2 e
is not specific for substrate

is a libid
is a carbohydrate

43. Conditions at which Enzymes work best is called _conditions.

R L e e L b T T I o T AEVRTAT RIS VIR AP FRFARFE R
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p | &
I‘)) » '/Optlmal \‘i‘"" v l\p_‘_,_;.(y” ©  Minimal
4 NIV
© Optical ©  All of the above
44. Heat will pause Enzymes (fipes 3% S13)
r‘/!_1_12101:1'\721&on & Nt ias
&gﬁaturation & d"“‘/" Sl t}[}gnaturatign
N/
{ . s
Foldin o) ]
w g X (B
Activation. a0
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;}: 45. Or,gamc Enzyme Helper is called
t}k -
TS ’,,Q,(, Co-Enzyme (8 L““y ) " (o-factor
1% |
.,t ' Enzyme Activitor & Co-Helper
T , 3 :
L do. morggnic lonzyme Helper is ealled
T o 0¥
b N » i 3 \ 3 o
{é_j’g Co-tactor (el tl) Co-Helper
‘F { " i . =
T - Co-Enzyme Enzyme activator

47. Many enzymes r‘eqmre Ag}n prolem helper called _

- Aa ' L [0
7 A_ctlyat'or{_-'g o ('“'L“” ) ypﬂ“ Co-factor
v Co- enzyme

y ,;"' T

Co-modifier
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'#"i"'*"#‘%'#‘*'#‘A'-'#'#'#"J¥'#‘#‘#'ﬂ"#'#'#'#‘#**ﬂ#'#‘%'ﬁ-'#‘#’i'%‘#‘#ﬁ?'#ﬂ—%-#-ﬁ

!
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EaEar e de e e e b b o e B e e R

48. st pail ) v

(=

changes the active 31te Shﬁge

g

lr(‘/‘Ulock substrates from entermgf;
b —————— s

49. Noncompetitive Enzyme Inhibitor |
does not change the enzyme shape
acts directly with the active site

"

change the shape of the enzyme

2 binds to active site

50. Each enzyme has a particular target molecule called

a) Product Y us2 b Substrate

¢) Inhibitor d) Cofactor
51. Which of the following is a coenzyme?
a) zinc. . 4+—b) vitamin B6.
¢) iron. d) Copper.
52. Which of the following substances could be a cofactor?
a) a protein. b) a polypeptide.
L~€) a zinc atom. d) a ribosome
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53. The exported materials in case of exocytosis , are pa_gmgw within a 2
__ that fuses with the membrane. 2k f 5 2
a) Sheath : b) Vacuole ot ;
H s 2
) Film L-dY Vesicle '
2 ::r33~’;\y " = rﬂ’“
54. During phagocytosis, a cell engulfs a particle (fm)d) by wrapping
pseudopodia around it and packaging it within a sac calleda
a) Membrane b) vesicle
¢ vacuole d) lysosome
55. Which of the fo]lqwmg éis/ai e)a type of endocytosis?
) Pmocytosm 3 d-ﬂb)Phagocvtosm
'
Ke) Difﬁ,;s-;on y 3~’ ! % z:/d:) and b are correct
56. There are “*tygﬁg of‘endocytosis.
) X ,;5-‘}‘ V4 s
a) 2 J‘#‘
C) 5 1 ‘i;‘ : PPy i { 3
57. A cell uses the procegss%% 4 -to ﬁ;ﬁport ulky glarge) materials,
such as ——
roteins
¢eealP v polysaccharides I
==

B e e e L L L o T T R R TR N A S Y

£.¢) amino acid

58. The potential energx can be converte : .-‘{f

a) Potential P‘“’ ‘g" r; 31 L—bTkinetic b

'#‘#‘#‘#'#“ﬁ'ﬂ-'#"#'*‘#‘#’#'ﬂ'#'*‘#'#‘#'%1‘*‘&#‘##1’#11‘#1’#%‘*‘##'*'#'#1‘#'#1'%%‘%‘*'#1‘#1’#'#'#’#-#'#'#'kﬁ?‘#’#"#*ﬁ e e e e e e b T o e L

*—
ﬂ(e
2
1k
‘F
T
¢) Static d) stored ;
59. The use of exergonic processes to drive an endergonic one is called E
: — ' . *
L—a) Energy coupling &-"5\1)1 9 4! b) thermodynamics *
) Energy coup gé—,»lg)g’;,f_ ) . 1
¢) Mechanical work d) supporting work i
2 ; (5
60. Energy coupling is use of energy released from exergonic reactions to %
drive reactions. _ ?;
a) exogenic b) potential i:
c) ectogenic +-d) endergonic 3;
! 1
61. Energy coupling is use of energy released from reactionsto 1
drive endergonic reactions. £
a) Exogenic i ¢
) Exogeni; (®) Exerge T
c¢) Ectogenic : : d) endergonic M;

00T 1E Bt &L a:gu- ;(mé sl qg,s s I/ ,,.5:







A4 LA AR AR AR B R F 43222000 RA R0 RRRRARRRRRERE
3 December 2017 H

3 December 2017

1{( :
b Controlled
release of Q
energy for L
synthesis ’Q

of ATP

down an energy staircase and finally
reduce O2
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: In cellular respiration, eiectrons fall
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. 1) A redox reaction involves the iransferof,

ﬁs"‘/

1.

-~ -

Water. y Y AT cic:ctmu

A hydrogen ion. Oxygen.

2} In oxidation - reduction reaction (redox)y{ galn)o f electrons is

_N,_%

Y
Oxidation XY Dehydration
Reduction e Hydrolysis
3) In oxidation - reduction reaction (redox)(lﬁéép_f_e_lee:trons A
D%idation ke Dehydration ” Aie))
Reduction A Hydrolysis

4) Chemical energy in organic compounds are stored in <"V o

e

g##-ﬁ%ﬂ'ﬂ'ﬂ'ﬁ‘##‘##‘#'#"2"#'#‘%'*‘#‘#—#—3 A e et B B T e e R e *33

Eair e e e e e e G e e e A e ae e B B B e B l'#'#'i“‘:\'-'i“#‘ﬂ‘ii*ﬁﬂﬂ*#ﬂ#i#ﬂ*ﬂﬂg

+
18
A9
7
0}
h

V(jhgin_ical bonds s Hyfi_l”f_)ghylliqﬁgnds
Hydrostatic bonds | i Hydrophoblc bonds
S) Our cells harvest chemical energy trom 63_1;{9@ by a process called _
#)}_;7 o i,"K’/(Jelluleur respiration @)Qu" 7{ Inspiration
N Expiration s Photosynthesis
6) During cellular respiration o8 REASATI g2
~ Oxygen Iosi hydrogen atoms C\DH)JAJJ Y

™~ Glucose loses its hydrogen atoms

p————8 ugpm——
pecsremenn

Glucose gains hydrogen atoms

-~

Glucose is reduced

7) During cellular respiration, Glucoseﬂlgecomes "

" Carbon dioxide i Oxygen

S ATP " Carbon monoxide

8) During cellular respiration, Oxygen becomes

e Carbon dioxide I/P  Water

-y

Mo ATE & Carbon monoxide
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9) The first stage of cellular respiration is _

- ;
(ilycolysis Krebs cycle

- " the Electron Transport Chain

Oxidation phosphorylation k..
- v’/
10) The second stage of a cellular respirationis

{ S

(lycolysis
v’ Citric audcqcleJ

FHF A FFFFFFF AR PR F Fd

;y Krebs Cycle
" Oxidation phosphury-laf@gn
The Eleetron Tganspﬁi*?("hain

lar respiration is

—A‘—#'ﬁ'#*#'#‘#'i'v‘*‘#-}-*’#'#'#"1-*#*#-#—}'*-#'1‘#—111"i"#'ﬁl"#'#‘##’i“i"#‘#‘#‘#‘*'*‘*':!'ﬁ‘#‘#'#'#‘#’#'#—#'# R b e e o e e b

1
138
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x

::'Tll:;

T

ife

ur

iy
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?‘4

%

I

T

?

“F
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T

*

«%

%

*

fe

)ﬁ\

’f:

?.—

o

3 Gilyeolysis by y & Krebs cycle v’ The Electron
,F S l‘.' ..‘: F ”‘ 1

E ] ‘/Oxidation phos ylatin . citric acid cycle dranpart B
E 12) _ occursin theg K

% mﬁ _—— M'I»

N ‘/Glycolysm

; . !

iy A the Electron Transport Chain

* ey &

243 occurs in the mitochondria mat

15 b S >

z Glycolysis "-'"I{'rebsi chle v Citric acid cycle
3 - 0 ;
% K" Oxidation phosphorylation X" The Electron Transport Chain
E 14) occurs in mitochondria inner membrane. €~ }>W/ s 22!
T S

z “ Glycolysis R Krebscycle f.¥ the Electron
A " X Transport Chain
4 Oxidation phosphorylation Citric acid cycle

Tt

1 15) Glycolysis occurs in the ' (;_,):,"_.)\ J\8251)

1- -

T ; ; : :

i " Mitochondria inner membrane . " Mitochondria matrix

2 : |

Iy L4 Cytoplasm A” Golgi apparatus

*

E 16) The citric acid cycle occurs in the OR (Krebs cycle)
T o : ; ¢

A " Mitochondria inner membrane L“"Mitochondria matrix

ft

l; Cytoplasm A Golgi apparatus

T .

%

o)
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17) The Electron Transport Chain oceurs in the 3
Mitochondria irme_.r membrane * Mitochondria matrix j;’

T ot 3

Cytoplasm A" Golgi apparatus *

i % P

18) During Glycolysis Glucose is converted o

I wo 3 carbon long 1ﬁoleuules % One oxalate
“ Two oxalate Ll One Pyruvate
i9) During lecolvms Qluﬁgg_ is convertedto .
% ¢ One 0><;alate.'~ 7 7(_ ¢) One pyruvate ‘
+—Q ‘Two ;;%ruvate | e Y\ ¢ Carbond dioxide

20) l)urmg c1tr1c acid ‘gy‘cle&vmvate is converted to ot

Om. carbon 1n0n0x1de

21) Durmg citric acid gvclé or S C ; "':{!j,ffedf_f_(_)

e

*® :
Carbon monoxide
—w

=

'S
Tlnee carbon dioxide

22) During Oxidative phosphorvlatlon i -'

(Ele%ron Transport Chain)

%ATP is generated G/NADH-IS oxidized «/ Oxygen is

“ NAD is reduced % Glucoﬁe is reduced wd
23) Final electrons accep&or in Cellular Respiration is

ﬁ/()xygen gy ! AT

¥ ATH © Glucose

24) The enzyme that removes hvdrog_e_q from an organic molecule is called

¢ Deoxygenase wg) oy J -0 © Oxygenase
o] Dehydrogenase 'O All of the above
25) Dehydrogenase uses as coenzyme.
NAD " iron
4 magnesium © Zinc
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i i
r- 26) Fats amderg@ hy dmlysss to  before used as fuel. 3
3 | : T
¥ o %
1 \/ Glycerol al’ld ich_ijm;f_uigls = (ﬂ;w n] alone o
4 A ¥
x iy(‘erol and amino acids " fatty acids alone y %E
5 e it At
e ] 2 . ol
i 27) Amino acids undergoe  before used as fuel r
Y : : T
z A% Dehydrogenation’ © Amination A
7‘_ eGSR, 7&
#* N iy
x £ I{ydrogenamun b/f)eaqggggqp ;
-r " " ; .‘ - = Tl S '!i-"i-.-‘?i"-_i‘
% 28) __ _oceurs _13 cl! TO])ldStS, and _ occurs in mitochondria. X
T 45 T
;’.ﬁ L) Photnwnthesm e c.gﬂﬂ ar resprratlon ¥
7,; R PR — ?‘
E b) C el]ulpw resplraﬁon---- Bl@;oaynthesm %
E £) ¢ ellular reprrdnox?;--- osphere %
E d) Photosynthesis--+ _bsgéiere E
T 29) Cellular resplratii) uses ttharvest chemical energy (ATP) :
0 , e i T
4 *
‘E from food and produce «(:’f‘a 1
T . s ot 14
1 a) Carbon dioxide ------ oxyge g V 4 I
* o ¥ ¥
jl; L) Oxygen ----- carbon dioxide &q;f' 1‘1',:
T > g
x ){C) Oxygen ----- carbon monoxide 4
‘lk-
1% d) Sun ray ------ oxygen e 3
\I—
+ o le) ¥
1 30) Breathing is necessary for gas exchang_ e of €02 produced during x
df TEB Y g 3
1 with 02 of the *
¥
X a) Cellular respiration----- photosynthesis ;1:
T-
z b) Photqsynthesis —————— cellular respiration E
* o T
; ¢~) Cellular respiration-----atmosphere o
% d) Photosynthesis----- atmosphere E
X 31) Respiration (breathing) and cellular respiration 1%
T ;
: *
; a) Produces ATP ... is gas exchange o
X k
E ¢-b)Ts gas exchange . . . produces ATP T
% ¢) Produces glucose . . . produces oxygen E
z d) Uses glucose . . . produces glucose ;11:
i t
: %
3 ¥
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- 32) The overall equation for the cellular respiration of glucoseis

Yo a) CsHppOg + 60, —;"ﬁgﬁ‘()? + 6 H,O + energy.

A

¥ b) 5CO, + 6 H,0 — CsHysO5 + 60, + energy.
/ey CiHR0, mﬁh (6)00, + QL0 energy.

1%&%#*%#%%1#1%#**%%@11a

) CHROL 30, L 60 05 GHD W i, Hesafo
33) During cellular respiration Ls oxidized and is reduced
Ay ("ﬂucose .. OXygen ,.jg;‘: ’ eyb‘) NAD+ ... glucose
¢) NAD+ ... glucose! ) d) ADP ... ATP
34) During Oxidati hggﬁ’ﬁorvlatlon s oxidized and ____is reduced.

r-u

Loy N"ADH -----2 QXY gen .«,

-~

.

35) Which of the followi[ig.ﬁ
correct order?

,ar Gl Xcolzms the citric acid cycle an

¥ ¢) The citric acid cycle, oxidative phosphorylatlon and glycolysm

\A d) Oxidative phosphorylation, glycolysis, and the citric acid cycle

R e e e e e e e e b e L VI VL P SRS VA
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I. Durmg Photosvnlhes&s R e ;; e)‘z\x ] J\&x‘)

Y\F\IAVS/,!%%V

Carbon dioxide is consumed

Uxygen is consumed

B g s

s | A
\ Protein is produced

Carbon dioxide is released

. Plant cells harvest energy from the sun by a process called _

{ 4 . S "ol : . .
'..//l{h( osynthysis P A" Expiration
. w o 4 , N0 W
Cellularespiration Photorespiration
/4
églgurs LM oo o)

/ : A “J 4 i X
mside the leaf : “’};r” ‘f" ._r;. & mesopf}_gﬂ cells ‘

R SN SRR

o

the xylem

" the stem

s

™ the roots

& Mitochondria

{VChl.oroplasts
S. Plants

)

are autotrophic organisms = &~ w0 s -
e S L - v are producers

are hetertrophic organisms ' : | v ﬁ_)@toautotrophic
LT e )
3 0 gl e

are consumers
e

e “decomposer
6. Autotrophic organisms can (Photoautotrophic organisms can )

*° use energy to produce inorganic molecules
AT ——

" use chemical energy to produce organic molecules

i : ‘ i .
L—"make their own food without using organic molecules

"(.f- use glucose to make their food

R O A e e L T e e T T W VAR W Se it e e e e

v use the energy of light to produce organic molecules
e o

st c!.’gbmﬂ IS/ )5id
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5 are pores in the leaf that allow carbon dioxide to enter and
Bl oy o2 Tl L
oxvgen to exit. S ,
o Bl S
Stomata / s L EE Stroma ~ adl
¥ [ O
Nostrille ' e nE Matrix

8. Stomata are pores in the leaf that allow

/.‘ 5 5
" Carbon dioxide to enter

e a————A LAt ey
o Joesetee

Oxygen to enier

L g | { uxqg n 0 exils J
Nostrille )(; 1% i |

B = ]

none a{ the ab&ye){

.?g\
5
¥
e
?
A
zlk-
*
.?-
Tg
#
AF
-F
T
o
*
T
*
?.
S
N
?‘
7
¥

encloses detse fluid y @
A ; o ok GO
" found in the nntoc,hon@irla e

C/'
t/ﬁy First and second choice

10. %ment in chloroplasts, is

hemoglobin ' .
cynoglobin 4 ‘?”/ohlompflyu
11. Pigment that is responSIble for green color is |
Hemoglobin U’Q \ ¥ Cynoglobin
Greeﬁophyll /Chlorophyll
12. Pigment that is responsible for converting light energy to chemical
energy is ot e D)
©Chiorophyll “ Cynoglobin
Greenophyll ' : & Hemoglobin

13. Pigment that is responsible for converting solar energ)g to chemical
1 Cad
energy is b,_,rJ o) &
v Chlorophyll cynoglobm :

greenophyll : & hemoglobin
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